Chemistry 12 Worksheet 3-2

= 7. Calculate the [Mg2"] in a saturated solution of Mg(OH)> at 25°C. Show all your steps in a
ﬂr loglcal marmer Correct use of umts and 51gn1ﬁcant d?:glts counts (3 marks)
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8. Calculate the mass of AglO;3 which will dissolve in 2.50 L of water at 25°C, Show all your
steps in a lo glcal manner. Correct use of u.mts and significant digits counts (3 marks)
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9. At a certain temperature 2.2 x 10 grams of Cul will dissolve in 1,0 L of water, Calculate
the Ksp for Cul at this temperature. Show all your steps in a logical manner. Correct use of
units and sigmﬁcant digits counts (3 marks)
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